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1 25

A certain hunter had found a piece of forest where there were plenty
of animals to hunt The only 1 was that the place was very
difficult to get to

He returned from his first 2 to the place in late autumn
and could not get back until the snow smelted( ) in the following
3 Then he went to the pilot of a small plane who earned
his living by 4 hunters over parts of the country 5 were
no roads and no railways and asked him to take him backto his __ 6
piece of forest

The pilot did not know the place so the hunter__ 7 it to him
on the map * 8 there is nowhere to land there man " said
the pilot “ I have flown 9 that part of the country on my way
to other places and I know that we can’ t land anywhere 10 this
river and these mountains "~

“ 1 thought you were a 11 pilot
of my friends said you 12 land a plane on a stamp

“ That' s 13 " answered the pilot “ I can land a plane
where nobody else can But 1| 14 you there is nowhere to land
in the place you are talking about ~

“ And 15 if 1 tell you that another pilot 16 land me
there last spring ” said the hunter

“ Is that 17 " asked the pilot

“Yes it is | swear( )it

Well this pilot could not let himself be 18 by another
So he 19 to take the hunter

said the hunter “ Some



When they reached the place the hunter 20 out a small
spot( ) without trees in the middle ofthe forest with a steep
rise( ) at one end The pilot thought that there was __ 21
room to land there but the hunter said that the other pilot had done
so the year before so 22 went the plane When it came to the
rise it turned right over onto its 23 As the hunter climbed
out he 24 and said “ Yes that is exactly how the other pilot
managed 25 last time ”

1 A trouble B accident
C affair D favour
2 A voyage B entrance
C way D visit
3 A spring B summer
C autumn D winter
4 A bringing B taking
C carrying D fetching
5 A where B where there
C there D there where
6 A comfortable B favourite
C precious D dangerous
8 A Instead B Therefore
C But D However
9 A over B through
C across D beyond
10 A from B between
C behind D below
11 A common B ordinary
C excellent D wonderful
12 A would B should
C could D did
13 A false B right
C actual D sure
14 A tell B announce
C persuade D prevent
15 A what B that
C when D how
16 A hadto B did
C should D would
17 A perfect B funny
C true D pleasant
18 A hit B struck
C attacked D beaten
19 A obeyed B dared
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“ stomach” “ " “ back” “ " onto one’ s back
A B
24 A
“ " A
25 C “ manage it” .
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July 6 1944 was a day of nightmare( ) that I will never
forget That afternoon when I was making up my 1 In a dressing

tent at the moment 1 suddenly heard someone run past __ 2 “ Fire ”
Fire was what we circus( ) people most 3 for there was a
large audience( ) in the tent including many children I 4

towards the tent with a 5 but I could do nothing with 1t since
the tent was 6 too high and the flames spreading 7

In the burning tent was a 8 of panic( ) people rushed
towards the exits and some even 9 twelve feet from the top rows
of the grandstand to the ground 10 Some people after
11  tried toreenter to 12 their relatives or friends Yet
it was 13 for them to get through the crowd instead they
blocked the 14 I fought at one exit shouting at the top of my
lungs “ Go on Keep 15 At every exit circus people were
doing the same thing In the midst( ) of this scene the__ 16
kept on playing 17 the tent was a fire overhead

City fire equipment 18 arrived and put out the fire All
the circus people were 19 though some were bruised( ) or
burned during the rescue 20 The audience however were not
that 21 In a panic they all tried to use the regular __ 22
through which they had __ 23 the tent As aresult 168 people had
died in the 24 -the worst circus

disaster( ) in 25

1 A face B Dbody
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story
talking
crying
feared
destoryed
started
drove
container
bucket
rising
touching
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suddenly
scene
state
Jumped
moved
outdoors
there
getting out
walking out
call

take
successful
impossible
route
street
sitting
standing
musicians
artists
unless
because
rapidly
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23 A left B arrived
C escaped D entered
24 A fight B tent
C fire D water
25 A history B summer
C season D movement

(2)

William Gates the 3rd was born on October 28th 1955 in Seattle
Washington His nickname is“ Trey” because he is the third to be named
26 In his family

His great interest in computers took hold 27 in 1967 the
Lakeside Mothers Club bought a digital training terminal linked by
28  to a local phone company As his father later said Bill was__ 29
hooked to it

While still in high school he and two other friends 30 the
Lakeside Programming Group One of Bill’ s first 31  was to make

class timetable at his 32 He devised( ) it so he could
33 classes with the prettiest girls He earned 4200 for this
project

Shortly after he 34 Harvard as a law student He later
left Harvard at the urging of his friend Paul Allen He had seen
an article about computer technology and felt the computer 35
was wide open for them They both moved to

Albuquerque  New Mexico It was at that time in 1975 36
Microsoft Software was started Later that company 37 and they
had to 38 their products to other firms  Their big 39
came when the Tandy Corporation hired Microsoft to develop 40
for Radio Shack During this period they relocated the company 41
to Seattle

Another big break came when IBM contracted( ) Gates about
developing an operating system Gates bought a small program called
Q DOS and improved it He 42 it MS DOS

They started Microsoft in 1975 and by 1978 they had earned 4
million in 43 By 1980 it had 44 to 16 million

His 45 is/was" to have a computer on every desk and in every
home all 46 Microsoft software”

Since then Microsoft has released( ) windows3 1 95 and most
47  windows 98

By 1983 40 of all computers used Microsoft software and today
the__ 48 are even higher

In 1987 Microsoft stocks went up to 90 each 49 Bill Gates



the youngest billionaire in history

Today Microsoft is

50

at over 40 billion and of course

Bill Gates is the wealthiest man in the world

26 A Gates
C William
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C homework
32 A school
C home
33 A give
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35 A workshop
C field
36 A when
C that
37 A failed
C developed
38 A give
C sell
39 A story
C price
40 A computers
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41 A again
C over
42 A sent
C renamed
43 A purpose
C shopping
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C job
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